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Sonam Pundir 13 hours ago

Hw ans WUPSVRXTQ (Clockwise)
Inside facing ~USVXQ

Outside facing~WPRT

Thanku mam &)

oy &R REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

shubhangi mishra 16 hours ago

H w ans.

QWUPSVRXT

inside facing - VXQUS
Outside facing - RTWP..

Read more

> P REPLY

+ View reply from Mahendras : Online Videos For Govi. Exams

Nabanita De 19 hours ago
H.W-TXRVSPUWOQ.inside-XVSUQ.outside-TRPW.thank u ma'am.

by &P REPLY

bhavya Saini 12 hours ago

Thank-you Madam for this Amazing class Session of today's.. Jly &)
And

My Answer for today's homework u is like-

OWUPSVRXT with QUSVX facing inside and WPRT facing Outside. ..

Read more

oy 5P REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

®

©

Mohit.. 21 hours ago

Thank-you Madam for this Amazing class Session of today's.. /A, &
And

My Answer for today's homework u is like-
QWUPSVRXT with QUSVX facing inside and WPRT facing Outside.

Read more

b &GP REPLY

* View reply from Mahendras : Online Videos For Govt. Exams

debasish chakraborty 22 hours ago

Homework :
TXRVSPUWQ
INSIDE - XVSUQ
OUTSIDE - TRPW..

Read more

oy &R REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

Rahul Bhakat 13 hours ago

TQWUPSVRX (CLOCKWISE)
INSIDE - QUSVX
OUTSIDE - TWPR

Thank you ma'am!

ah &GP REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams
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Ten boxes namely—-P,Q,R,S, T, U, V, W, X, and Y are kept one above the other in a
stack but not necessarily in the same order. Box S is kept fourth from the bottom and
not kept adjacent to box U. Box adjacent to S is kept four places below T, which is kept
just below the box W. The number of boxes above W is one more than the number of
boxes below P. Two boxes are kept between P and Q. The number of boxes between Q
and T is one less than the number of boxes between Y and R. Box R and V are kept
together.

SHIFH IAUTI-P,Q,R,S, T, U, V, W, X, 3T Y I T & I T &I A T@T 1T § ol fohet
3ra€rﬁ:3'\=frmﬁg’nmsaﬁsﬁ%#a‘tﬁmwmw%aﬁzmu%
fere AT TWT AT E 1 S & A< aTel 91FF 1 T W IR T A< QT AT 8, o a1
W & &I S T@T AT ] W & FUT dTel diFd h AEIT 916 I TE&IT A T H A ¢
PFARIPIRQF TN IFT W@ AT QIR THF AT FIFg AN FEATY IR R*
1T & 9T 1 TC&IT A U A | 9199 R 31X V I T Q1T @1 AT R

!, L e
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Ten boxes namely-P,Q,R,S,T,U, V, W, X,
and Y are kept one above the other in a
stack but not necessarily in the same
order. Box S is kept fourth from the
bottom and not kept adjacent to box U.
Box adjacent to S is kept four places below
T, which is kept just below the box W. The
number of boxes above W is one more
than the number of boxes below P. Two
boxes are kept between P and Q. The
number of boxes between Q and T is one
less than the number of boxes between Y
and R. Box R and V are kept together.
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31. What is the position of the box Y with respect to S? S &
Hoel H f3ear Y HT TAT FIAT 872

a) Three places above b) Immediate above c) Two places above
d) Immediate below e) None of these

32. How many boxes are kept between W and Q? W IR qQF
7e fhaer 3sd @ a1v 8§72

a) As many as between X and T. b) Three c) Four d) As many as
between Y and R. e) None of these

33. Which of the following statement is/are not true?
ffaf@a & ¥ sia aUd a9 a7 a8 887

a) Three boxes are kept between V and T. b) Box Q is kept two
places above T. c) Box P is kept just below S. d) One box is kept
between W and Q. e) All of the above statements are not true.
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34. Find the odd out? faYH T 9dT ¥MT?
a) PSX b) QYT c) TRW d) YSQ e) VWR

35. Which of the following box is kept three places above Y?
frafaf@a & & #la a1 Bsar v & T Faer 3w
IGT I14T g7

a) P b) Vc) S d)R e) None of these
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36. How many pairs of letters are there in the word “GERUNDER” each of
which has as many letters between them in the word as in the English
alphabetical series?

rs¢ "GERUNDER" & 378 & fhdel I3 §, Bed @ v+ & &g 3da
gl IR § a3l quiaATeT s[@ar 7 8§72

a) Three b) Two c) Four d) one e) More than four
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Person A is 7m west of Person C. Person B is 6m South of person F. Person E is 3m North of person
G and 2m west of person C. Person D is 8m North of person F who is 10m west of person A.

afed A, IfFd cF 7H aRgw & &) <afFa B, afFa F+ 6 gfdior A g1 I Fa E
afed 6 & 3 3aX A ¢ 3R afFa cF 2/ afaw F &1 =fFa pafead F& 8HY 3
ﬁ'%Sﬂ'oﬂi#a A% 10HT qRTA #%l

37. What is the shortest distance between D and E?
D 3iX E&F AL +gada gt a1 87
a) 15m b) 20mc) 17md) 22me) 12m

38. What is the direction of G with respect to B?
BF Hegs H G &Y feem +ar 872

a) Northwest b) Southeast c) West d) Southwest e) Northeast

39. Which of the following persons is in a straight line?
frfaf@d & @ i a1 =fFa e @i @ JF 22
a) CEF b) AEG c) DBC d) AFB e) CED
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40. How many such numerals are there in the number ‘5687264493’ which will
remain at the same position when arranged in ascending order from right to left?

HEAT '5687264493' H ¥ fhast 31 § Sl g0 & 1€ 3G HA & c¥afeyd
Eb‘{# W gAE Fufa & wae
a) 1 b) 3 c)2d)4e) None of these
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Six persons J, P, Q, R, V, Z are sitting in a row. Some of them are facing north
while some of them are facing south. J sits second from one of the extreme end
of the row. P sits third to the right of J. R is not an immediate neighbor of P and
Z. Both the immediate neighbors of V faces opposite direction. Both the
Immediate neighbors of Z faces same direction. V sits second to the left of P. Q
sits to the right of R. R faces north. Q faces same direction as Z.

Be A, P, QR V, ZH IRT A ST AN A Fo F AT ST A 3G
mﬁ:wmwa@wﬁm%lmﬁ?ﬁ:mﬁwmﬁﬂWQ T T
TP ) FeX T Ay TIF W ST R, P 31 2 F1 A Fean TRIgIVH
aﬁﬁmqﬁmmwﬁﬁaﬁan#%lzamﬁﬁmqﬁmm
T WA A ANV, P& I A ey e W AT @, RF G TR R
a:rﬂ'@rma?ram%lqaﬂwza:mﬁana?rm%l
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Six persons J, P, Q, R, V, Z are sitting
in a row. Some of them are facing
north while some of them are facing
south. J sits second from one of the
extreme end of the row. P sits third
to the right of J. Ris not an
immediate neighbor of P and Z. Both
the immediate neighbors of V faces
opposite direction. Both the
Immediate neighbors of Z faces same
direction. V sits second to the left of
P. Q sits to the right of R. R faces
north. Q faces same direction as Z.
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1. Four of the following five are alike in a certain way, and so form a
group. Which of the following does not belong to the group?

2 PafafE og # § 9% UF ORad ot § 99 &
IR sufoT s ¥Ag s 71 el 7 @ ST w9 g
¥ wafoa a8t 872

(a)R,V(b)V,P(c)J,P(d)V,Q(e)J,R

2. What is the position of Q with respect to Z?

Z% Feed H QFT TIT 4T 872

(a) Second to the left (b) Third to the right (c) Third to the left (d) Fifth to
the right (e) Second to the right

3. Who amongst the following sits exactly between Z and J?
ffaf@a 7 & #i9 231k 1F & dfig & dor 82
(a) R(b) P (c) Q(d) BothVand Q (e) V
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4. How many persons in the given arrangement are
facing North?

&Y 9T YaEYT A fhasr sgfda 3¢ i X
3+HE 7

(a) More than four (b) Four (c) One (d) Three (e) Two

5. Who is sitting 4th to the right of Q?
Q% g ¥ T TU W FiA dor 872
(a) R(b) Z (c) P (d) J (e) None of these
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6. Statements: No symbol is letter. 7. Statements: Some logic are answers,
All expression are letter, All keys are answers

Some symbols are word. . .
Conclusions: I. No word is letter. Conclusions: 1. All keys are logic.
II. No keys are logic.

II. Some symbols being expression is
(a) Only I follows

possibility.

(a) Only I follows

(b} Only II follows

(c) Either I or II follows
(d) Neither I nor II follows
(e) Both [ and II follow

(b} Only II follows

(c) Either I or 11 follows
(d) Neither I nor Il follows
(e) Both I and II follow
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8. Statement: All numbers are digits.
Some numbers are points.
Some points are marks.
Conclusions: [. Some points are digits.
[I. All marks being numbers is a
possibility.

(a) Only I follows

(b) Only II follows

(c) Either I or II follows
(d) Neither I nor II follows
(e) Both I and II follow
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Seven boxes M, N, O, P, Q, R, S are arranged !ll

above another. Only two boxes are placed
above box P. Only one box is placed between
box S and P. As many as boxes are placed
between box S and Q as between box Q and M.
Three boxes are placed between box N and O. N
is placed above O.

|1 f3sd M, N, O, P, Q, R, S & Teh g8 & I
qafeyd fhaT AT & | I P & FUL FaoT gl
qFGIG AT | TFT S 3P F fiT Faa v
g @I AT | aFF S iR QF AT 3aa &)
dFa W AT Saa dFg QiR mF o @
AT DT TFT IFg N IR o FNTI@ T |
N & 31T & F9T TE@T AT 8|
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9. How many total numbers of boxes are placed in
between box S and Q? 91T S 3T Q& €T A el
fhast gEar & 9 @ 9T g2

(a) Two (b) One (c) Three (d) More than three (e)
None

10. Which of the following is true regarding Box N?
g9 N& 99 # Aefaf@d & @ sl ar
qeT g7

(a) Three boxes are placed between box Q and N (b)
Box N is placed below Q (c) Box N is placed at top (d)
Only one box is placed above box N (e) No box is
placed between box N and R

11. Whichubox is placed at top?
i AT S1Fd TGE I I&T AT g2
(a) S(b) N (c) Q(d) R (e) M
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12. Which box is placed immediately above box Q?
feear Q& & I HI9-UT Bear @T AT 87
(@) M (b) P(c)S(d)N(e)R

13. How many boxes are placed in between R and M?
RIT M&F ALY fFdar f3ed 1@ v &7
(a) Two (b) One (c) Three (d) More than three (e) None



http://www.mahendras.org/

&) SBI CLERK 2022 / /mmat 11:30 am/ @y

“arrange things in order” is coded as - “po gb ik mn”
“order for new things” is coded as - “po gb fc bv”

“new places to order” is coded as - “gb cq bv ra”

“places in unknown country” is coded as - “ de ra lf ik”

17. What may be the code for “ in country”? 14. What will be the code for “order”?
(a) If ik (b) de ik (c) po gb (d) either (a) or (b) (a) gb (b) fc (c) cq (d) ik (e) can’t be determined
(e) None of these

15. What may be the code for “things to vanish”?

(a) po cq hx (b) po vm ik (c) cq fc ik (d) either (a) or (b)
18. “bv” is the code for? (e) None of these
(a) things (b) new (c) arrange (d) places

(e) None of these
16. What will be the code for “ arrange”?

(a) gb (b) mn (c) cq (d) ik (e) can’t be determined
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Six persons A, C, Q, R, T, Y were born in six
different months January, April, May,
August, September, December of a year.
Three persons were born in between A and
Y. A was born before Y. No one was born in
between C and A. Two persons were born in
between C and R. T was born before Q.

BEecddd A, C, Q, R, T, Y Uh d¥ & Bg 3Tel9l-
31T AT STeTaqy, mﬂsr S, 3IEd,
fAd=R, W#ﬁawﬁmsﬁw#a‘w:ﬁr
AT afFadergv ATAFTI=A Y T Uga
EﬂTﬂTICﬁTA%aﬁHﬁ'ﬁm"rﬂdrﬂ sTel
gmmlcaﬁTRa:a"Erﬁa’r—zrﬁ-?rﬁargtreTl
Ta»'rrrJTQ#tlﬁTgarrenl
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Months
danua
April

Ma

August
September
December

23. Which of the following is not true
regarding Y?

(a) Four persons born between Cand Y
(b) R was born before Y

(c) Qis born immediately after Y

(d) Only Q was born between Y and R
(e) No one was born after Y

19. Who among the following was born in May?
(@)C(b)A(c)Q(d)T(e)Y

20. How many persons were born between A and Q?
(a) One (b) Three (c) Four (d) Two (e) None of these

21. How many persons born were before R?
(a) One (b) Three (c) Four (d) Two (e) None of these

22. Who among the following is the oldest?

() C(b)A(c)Q(d)T(e)Y |
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24. A family consists of five members A, P, R, T, H. P is wife of A. R is the daughter
of A. R has only one brother T. H is daughter-in-law of P. How is H related to R?

UF GRER A 9T §GET A, PR, T,HEl P AF Gl g1 R, AS Tl §1 RFT
WW%@T%IHPQ%W%IHWWWH%73HTH#7

(a) mother (b) sister-in-law (c) daughter (d) daughter-in-law (e) none of these
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25. If the digits of the number “46752983” are arranged in increasing order form
left to right within the number, then how many digits will remain on the same
position after the applied operation?

Ife WEAT "46752983" F HHI H WEAT & Ay AT F AT g FA H
qafeyd fFaT STaT 8, @ &F) AT &F a7 fhast 3F FAT T W

Jear?

(a) Two (b) One (c) Three (d) Four (e) None of these
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26. How many meaningful words can be made by using letters ‘A’, ‘F’,
‘L' and ‘T’, keeping L as the first letter of the word?

LY 21eC FT YT HER @A g¢ 'A’, 'E', 'L' 3 'T' 3&RT T JANT
0% fhae HAQOT Qeg TATT T WA &7

(a) One (b) Two (c) Three (d) Four (e) None of these
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Point E is 15m east of point B. Point G is 20m north of point E. Point K is 10m east of point G Point M is

30m south of point K. Point P is 20m west of point M. Point L is 10m north of point P ﬁg

15 #iex ©& 7 31 g G, Eﬂ;zoxﬁamﬁ%lﬁg ﬁgeaﬂoxﬁaq-c’r
Mﬁ§K$3OFﬁETEf?I'UT gl g p, g M 20 T afRasw & 31 g L ﬁgtﬁ«‘ﬂm
Hiex 3w # g

27. If Point V is 10m east of point S and Point S is 10m
north of point L, then what will be the distance between

point E and V? Ifg ﬁ&s# 10+ tlﬂ'ﬂ'%ﬁ?
fag s, & Lﬂ-7103=ﬁ'3?|T a’rﬁgEaﬁTv$
dr &y FgT gref?

(a) 10m (b) 15m (c) 20m (d) 5m (e) 25m

28. What is the total distance between point B and L?

fog B3 L& e it For gt el 87
(a) 10m (b) 15m (c) 20m (d) 5m (e) 30m
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29. If Point Z is 10m north of point M, then point what is the
distance between point E and 2? I ﬁg Z, ﬁg M& 10HT 3T
73 ar g ek z&F & fr g 77 372

(a) 10m (b) 15m (c) 20m (d) 25m (e) 30m

30. Point K is in which direction from point P? ﬁg K, ﬁg PH
fra faam & 87

(a) South (b) South-east (c) North (d) North-east (e) North-west

31. Four of the following five are alike in a certain way, and so
form a group. Which of the following does not belong to the
group? AFAAAT v & ¥ IR e AT ol & g9
¢, 3R sufav & @ag saa 81 Aefaf@a & @ i
g § wafta gt §7?

(a)P,L(b)P, M (c)G,E(d)L,E(e)G, B
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13534592872365273812184981247352489824

32. Which element is exactly midway between the seventh element from the left end and

sixteenth from the right end? &l |T dca 910 BR ¥ a4 3R g0 8R & Hldgd dcd &
S diT &7 872
(a) 8(b)2(c)5(d)6(e)7

33. How many perfect squares are there to the right of the fqurteenth element from the right
end?ﬁﬁﬁ*ﬁﬁﬁmmﬁﬁﬁq‘ﬁ'ﬁ%?

(a) Two (b) One (c) Three (d) Four (e) more than four

34. How many perfect cubes are there in the above arrangement, each of which is immediately
preceded by an odd number and immediately followed by an even number? 3WRNFd cIaEYT
# st qof w1 8, o9 @ 93F & 8% dga T fawH w&am HR &% 9g v WA
& 87

(a) None (b) Three (c) Two (d) One (e) More than three



http://www.mahendras.org/

&Y SBI CLERK 2022 / /mEE®at 11:30 AM/
13534592872365273812184981247352489824

35. How many such odd digits are there in the given arrangement, each of which is
immediately followed and preceded by an odd number?

&l 75 9Ty # W fFdd favH I 8, OaH @ 93F & 3% 91 v fauw
&A1 87

(a) None (b) One (c) Two (d) Three (e) More than three

36. Which of the following element is 5th to the right
of 10th from the right end?

ﬁmﬁﬁaﬁ#ﬁamw@ﬁ#ma%

S ¥ 5ar 87
(@) 9(b)8(c)2(d)1(e)4
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a1 __d
There are six wallets A, B, C, P, Q and R, each containing different amount of money in it. Wallet B
has more money than wallet Q but less than wallet P. Only wallet R has more money than wallet
C. Wallet Q does not has the least amount of money. The wallet containing 3rd highest amount of

money has Rs. 3000, which is Rs.1000 more than the wallet which has 2nd lowest amount of
money.

BEdIAC A, B, C, P, Q 3T R E, a1 T Ucq® H A9T-H9 UTA B I B F I e Q
FMFIATE AfFT e P FA L Fad dlelc RF T dec CH IMF dATg I alec QA FA T
e TR 1gt &1 Had gad 2 TR a1 areie 7 ¥. 3000, S 37 dicie W 1000 97 AR §

o g@dt aed Far AR
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37. Which of the foIIowingUwaIIe’g has the least amount of money?
i@ # 9 59 arde & 998 F9 Ufr 8§72
(a)A(b)B(c)C(d)Q(e)P

3§. What may be the amount of money in wallet C?
gide CH fhast ufr g Tl g2
(a) Rs. 2500 (b) Rs. 2000 (c) Rs. 3500 (d) Rs. 2250 (e) Rs. 2100

39. What may be the amount of money in wallet B, if it has Rs. 250 less

than the wallet P? aTalc B & fha«l =1 8 Fd! g, I¢ 39% I
. 9¢U PH 250 HH?
(a) Rs. 2500 (b) Rs. 2750 (c) Rs. 3500 (d) Rs. 3250 (e) Rs. 2200

40. Which of the following is true regarding wallet P? didle P& 9 # ArafRf@a A &
FieT AT T 82

(a) Only wallet A has less money than wallet P (b) Wallet B has more money than wallet P

(c) Wallet P has 3rd highest amount of money (d) Wallet Q has more amount of money than P
(e) none of these
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